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1.2.1.  Chloroplast/chlorophyll/stromav’

1.2.2. micellev

1.2.3. enzymesv

1.2.4. appendixv’

1.2.5. aorexiav’ or bulemiav’ or malnourishedv’

1.2.6. cortexv (6)

1.3.1 B onlyv'v’

1.3.2. Aonlyvv

1.3.3. Bonlyvv

1.3.4. Aonlyvv (8)

1.41. 10kgv (1)

1.4.2. Elephantv (1)

1.43. 1kgv (1)

1.4.4. Animals with a lowerv' massv” will have a higher metabolic ratev'/vice versa (3)
16/

1.5.1. 1- oesophagusv
2-stomachv’
3-pyloric sphincterv’
6-gall bladderv’
7-liverv’ (5)

1.5.2. Sores bilev’ (1)
1.5.3.  ANY FOUR:

Forms ammoniav’

Makes plasma proteinsv’

makes vit AV’

Breaks down alcohol and drugsv’

Converts glucose into glycogenv” and backv’

Stores fat soluble vitaminsv’

Breaks down steroidsv’ 4)
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2.1.1.
Effect of urine production of drinking water vs salt
solutionv’
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before drinking
drinking 30
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Time when urine was collectedv’
e \\/ater e Salt
Keyv'
Typev
Plottingv'v’
Scalev’ (8)
2.1.2. 60 minutesv’ (1
2.1.3. 180minsvv (2)
2.1.4. Greater thanv (1)
2.1.5. a.3750mlvv (2)

EFFERENT
ARTERIOLE

Fig. 19.7. Diagram showing structure of a Malpighian corpusela,
Podocytes (Cv)
Any other threev'v'v/
Correct diagram and headingv’ ()
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c. Podocytesv” assist in filtrationv’

afferent is wider than efferentv” for pressure differencev’
squamous epitheliumv” thin walled for diffusionv’

Slit poresv” to allow substances throughv’

TWO POINTS MAX

2.1.6. Receptor cells in the afferent arteriole detect changev' >
Adrenal gland is stimulatedv' >
To stop secreting aldosteronev” >

This decreases re-absorption of sodium from the renal tubules into the

surrounding blood vesselsv' >
Salt levels decreasev' >
Returns to normalv’ FOUR MAX

2.1.7. Raise sample numbersv repeatv’

2.1.8.  Any controlled/fixed variablev' TWO
Same amount of waterv’
Same conditionsv’
Same temperaturev’
Same way of measuringv’

2.2.1. As light intensityv’ increasesv’, photosynthesis increasesv’

2.2.2. The plant is exposed to more light and more carbon dioxidev’

2.2.3. waterv'/enzymes¥'/chlorophyllv’/temperaturev’

2.2.4. Decide on the plantsv’
Decide on the number of plantsv’
Learn to use the equipmentv’
Gather the carbon dioxide tankv’
ANY THREE PLANNING STEPS

3.1.1.  1-red blood cellv
3-capilaryv’

3.1.2. Dissolves gases in for easy diffusionv'\

3.1.3. thinv
moistv’
largev’
wel ventilatedv’
well protectedv ANY FOUR

(4)
(2)
(2)

3)
(1)
(2)

3)

(2)
(1)

(4)

3.1.4. * 7% Dissolves in water (plasma)v” in the blood plasma to form carbonic acid

(H2CO3) v
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3.1.5.

3.2.1.

3.2.2.

3.2.3.

3.2.3

3.3.1.

3.3.2.

3.3.3.

3.4.

* 30% Combines with haemoglobinv” to form carbaminohaemoglobin in the
RBC'’s. v

*  63% forms Bicarbonate ions (HCOz3’)v" in the RBC’s when it combines with
water to form carbonic acid v'which then dissociates to form bicarbonate

ions and H* ions v'. (6)
+ Between the body cellsv’ and capillariesv’ (2)
A- pharynxv’
B-epiglottisv’
C-larynxv’
D-tracheav’
E-bronchiv’ (5)
ribsv’ and intercostal musclesv'/pleural membranev’ (2)
Prvides soundv’ (1)
Inspiration Expiration
Ribs move up and outv’ Ribs move down and inv’
Voolume increases Volume decreases
Pressure decreases Pressure increases
Diaphragm contracts and moves down | Diaphragm moves up and relaxes
Air rushes in Air rushes out
(7)
v for table
Across the inner cel membranev” of the mitochondrionv’ (2)
phosphorylationv’ (1)
sweatv’ (1)

Moistv” as its in waterv’

largev” as there are many lamellaev’

well protectedv” in the operculumv’

well ventilatedv” from the movementv’

Thin as only one cell thickv’ (6)
SIX POINTS MAX

Absorption: v(a)

e Protein is in the form of amino acidsv” which will move through the villi
wallv” into the capillaryv’

e Glucosev” will move through the wall in the same wayv" (NOTE only one
mark here if the same is repeated)

e fatsv’ will break into gycerolv’ which will move through on its own into the
lactealv” and fatty acidsv” which will combine with the bile salstv’ to form a
micellev” which will move in to the lactealv'.

(6 max)
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Glycolysisv' (g)
e glucosev is broken into 2 3 carbon moleculesv’ of pyruvatev’ producing 4
ATP and using 2 ATPv which results in a nett gain of 2 ATPv

(3 max)
Krebs cyclev'(k)
e Pyruvate enters a mitochondrion through the membranev’
e Pyruvate gets broken downv’
e Releasing High Energy Hydrogen atoms v‘and Carbon Dioxidev’
(3 max)

Ox Phos and ETC: v/(0)

e NADH becomes NADv" and releases an energised hydrogenv” into the
transport protein.

e This hydrogen then transfers its energyv’ (in the form of an electron) into
the electron transport chain. v/

e The hydrogens collect in the intermembrane spacev’, as they are pumped
through every complex. v/

e THE ENERGY: The energy (from the electrons) is passed through the
THREE protein complexesv’, and finally used to be given to oxygenv” (the
last electron acceptor) which then binds with two hydrogen ions inv" order
to create water. v/

e THE HYDROGEN IONS: The hydrogens then move passively backv into
the mitochondrial matrix through the ATP pump (ATP synthase). v' This
creates energy v (through the movement of the Hydrogen ions) which
powers the joining of the ADP and the P v'into an ATP molecule

(5max)
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